This question paper contains 8+4 printed pages]
Your Roll No. .....ovvviii

7638
B.Com./11 D
Paper VI;BUSINESS MATHEMATICS AND STATISTICS
(Part B—Business Statistics)
- (Admission of 2006 onward;)
Time : 2 Hours Maximum Marks : 50
(Write your Roll No. on the top immediately on receipt of this question paper.)

Note —  Answers may be written either in English or in Hindi;
but the same medium should be used throughout the
paper.
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All questions are compulsory. Log tables and other tables
shall be provided on demand. Use of simple calculator
is allowed.
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Find the Geometric mean of two numbers if their

arithmetic mean is 15 and the harmonic mean is 9.6.

Calculate standard deviation of first five natural

numbers.

The regression coefficient of regression equation of X

‘on Y is 2.4.and the same for the equation Y on X is

0.8. Are the equations consistent ?

If price ‘increases by 10% during first year and decreases
by 15% during second year, calculate the avefage

increase/decrease in prices. 4<2
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During a period of decline of stock market prices, a stock
sold at Rs. 50 per share on day one, Rs. 40 on the second

day and Rs. 25 on the third day :

) If an investor purchases 100, 120 and 180 shares
on three respective days, find the average p'rice

paid per share.

() If an investor purchases Rs. 1,000 worth of shares
on each three days, find the average price paid per

share.

The mean and .standard deviation of marks obtained
by 40 students of a class in statistics are 55 and 8
respectively. If there are only 5 girls in the class their
respective marks are 40, 55, 6_3,.7AS and 87, calculate
mean and standard deviation of the marks obtained by

the boys.
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Or
(3teram)

If 20 subtracted from every observation in a data set,
then the co.efﬁcient of variation of the resulting data set
is. 20%. If 40 added to every observation of the same
dafa set, then the coefficient of variation of the resulting

set of data is 10%. Find the mean and standard deviation

of ‘the original data.

Prices of a commodity increased by 10% in the ﬁrst year
and 20% ip the second year. waever it. declined by
40%'in the‘third year and increased by 5% in the fourth
year.-Find the average increase or decrease.in the price

of the commodity over the period of four years. T+7
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()~ Explain the properties of standard deviation with suitable

examples.

(b)) The deviations from their respective means of X and Y.

series are given below :

X- Y
-4 3
-3 -3
-2 -4
-1 0

0 4

] 1

2 2

3 )
4 | -1

Compute Karl Pearson’s coefficient of correlation from the

above data.
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X Y

| —4 3
-3 -3
-2 -4
-1 0
0 4
I 1 |

2 2
3 2
4 -1
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Or
(3rran)
(a)  Briefly explain the properties of regression coefficients,

(b)  The equation of two lines of regression, obtained in a
correlation analysis between variables X and Y (order not

known) are given below :

2X +3Y-8=0
2Y+ X -5=0.
If variance of X is 4, find variance of Y. 6+8
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(a) Brieﬂy explain the uses of Index Numbers.

(b) Fit a linear trend equation to the following time

series :
Year - Sales
(in 000 rupees)
2008 _ 36
2009 30
2010 | 28
2011 | 40
2012 45
013 4

Also find the trend value for 2019.
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(a) Briefly explain the components of time series.



(1)

7638

(b))  You are given the following information :

Commodities 2008 2013

Price Quantity Expendituré Quantity
®Rs) | . Go (Rs) ke)

A 2 40 2000 50

B 2 18 1200 30

C 54 16 1320 44

D 20 40 1350 45

E. | 18 30 630 15

Compute the price index for the year 2013 by appropriate

method.

6+8
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A 25 40 2000 50
B » 18 1200 30
C s | 16 320 |
) 20 4 1350 45
E 18 30 & |15
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